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Example

1. The lengths of sides of a triangular field are

28 m, 15 m and 41 m. Calculate the area of the

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_8BAthKEMQVus


field. Find the cost of levelling the field at the

rate of ₹ 20 per 

View Text Solution

m
2.

2. Find the TSA and LSA of a cuboid whose

length, breadth and height are 7.5 m, 3 m and

5 m respectively

View Text Solution

https://dl.doubtnut.com/l/_8BAthKEMQVus
https://dl.doubtnut.com/l/_Fj7WJ80vw0AL


3. The length, breadth and height of a hall are

25 m, 15 m and 5 m respectively. Find the cost

of renovating its floor and four walls at the

rate of ₹80 per m2.

View Text Solution

4. Find the Total Surface Area and Lateral

Surface Area of the cube, whose side is 5 cm.

View Text Solution

https://dl.doubtnut.com/l/_IRkMS066wZjX
https://dl.doubtnut.com/l/_zfnpJIAs94BN
https://dl.doubtnut.com/l/_bHjOihZul6u0


5. A cube has the Total Surface Area of .

Find its lateral surface area.

View Text Solution

486cm
2

6. Two identical cubes of side 7 cm are joined

end to end. Find the Total and Lateral surface

area of the new resulting cuboid.

View Text Solution

https://dl.doubtnut.com/l/_bHjOihZul6u0
https://dl.doubtnut.com/l/_T446sLL1JyJ1


7. The length, breadth and height of a cuboid

is 120 mm, 10 cm and 8 cm respectively. Find

the volume of 10 such cuboids.

View Text Solution

8. The length, breadth and height of a cuboid

are in the ratio 7:5:2. Its volume is 

Find its dimensions.

View Text Solution

35840cm
3.

https://dl.doubtnut.com/l/_hmjeECOcD0of
https://dl.doubtnut.com/l/_UHrffkGItXzK
https://dl.doubtnut.com/l/_zWA0Ic6Qzejw


9. The dimensions of a fish tank are

How many litres of

water it can hold?

View Text Solution

3.8mx × 2.5mx × 1.6m.

10. Find the volume of cube whose side is 10

cm.

View Text Solution

https://dl.doubtnut.com/l/_zWA0Ic6Qzejw
https://dl.doubtnut.com/l/_1g2X7yG0e33v


Exercise 7 1

11. A cubical tank can hold 64,000 litres of

water. Find the length of its side in metres.

View Text Solution

1. Using Heron’s formula, find the area of a

triangle whose sides are 

10 cm, 24 cm, 26 cm

View Text Solution

https://dl.doubtnut.com/l/_Fd2vMgst8La7
https://dl.doubtnut.com/l/_Ovn9Fnyx2g0Y


2. Using Heron’s formula, find the area of a

triangle whose sides are 

1.8m, 8 m, 8.2 m

View Text Solution

3. The sides of the triangular ground are 22 m,

120 m and 122 m. Find the area and cost of

levelling the ground at the rate of ₹ 20 per

View Text Solution

m
2.

https://dl.doubtnut.com/l/_Ovn9Fnyx2g0Y
https://dl.doubtnut.com/l/_fpzJ82oMKBHL
https://dl.doubtnut.com/l/_gAMvKi4ZWfGj


4. The perimeter of a triangular plot is 600 m.

If the sides are in the ratio 5:12:13, then find

the area of the plot.

View Text Solution

5. Find the area of an equilateral triangle

whose perimeter is 180 cm.

View Text Solution

https://dl.doubtnut.com/l/_gAMvKi4ZWfGj
https://dl.doubtnut.com/l/_qDHwcyTKvNkV
https://dl.doubtnut.com/l/_keKJi6n07in0
https://dl.doubtnut.com/l/_mblYAh41klFD


6. An advertisement board is in the form of an

isosceles triangle with perimeter 36m and

each of the equal sides are 13 m. Find the cost

of painting it at ₹ 17.50 per square metre.

View Text Solution

7. Find the area of the unshaded region. 

https://dl.doubtnut.com/l/_mblYAh41klFD
https://dl.doubtnut.com/l/_CTI8e17Jqi0J


View Text Solution

8. Find the area of a quadrilateral ABCD whose

sides are AB = 13cm, BC = 12cm, CD = 9 , cm AD =

14cm and diagonal BD = 15cm.

View Text Solution

9. A park is in the shape of a quadrilateral. Th e

sides of the park are 15 m, 20 m, 26 m and 17 m

https://dl.doubtnut.com/l/_CTI8e17Jqi0J
https://dl.doubtnut.com/l/_66QIyHKTJxkF
https://dl.doubtnut.com/l/_bPdf27tZBG9A


and the angle between the fi rst two sides is a

right angle. Find the area of the park.

View Text Solution

10. A land is in the shape of rhombus. The

perimeter of the land is 160 m and one of the

diagonal is 48 m. Find the area of the land.

View Text Solution

https://dl.doubtnut.com/l/_bPdf27tZBG9A
https://dl.doubtnut.com/l/_yQdanwEaEwrq


Exercise 7 2

11. The adjacent sides of a parallelogram

measures 34 m, 20 m and the measure of one

of the diagonal is 42 m. Find the area of

parallelogram.

View Text Solution

1. Find the Total Surface Area and the Lateral

Surface Area of a cuboid whose dimensions

https://dl.doubtnut.com/l/_LqnChK0Wk7eW
https://dl.doubtnut.com/l/_UcVrkbqVRQ3Y


are: length = 20 cm, breadth = 15 cm and

height = 8 cm

View Text Solution

2. The dimensions of a cuboidal box are

 Find the cost of

painting its entire outer surface at the rate of

₹22 per 

View Text Solution

6m × 400cm × 1. 5m.

m
2.

https://dl.doubtnut.com/l/_UcVrkbqVRQ3Y
https://dl.doubtnut.com/l/_gFvSaKv2nbPS


3. The dimensions of a hall is

 Find the cost of white

washing the walls and ceiling at the rate of

₹8.50 per 

View Text Solution

10m × 9m × 8m.

m
2.

4. Find the TSA and LSA of the cube whose side

is 

8m

View Text Solution

https://dl.doubtnut.com/l/_AbDg437uDmth
https://dl.doubtnut.com/l/_6pRrHlseOpz5


5. Find the TSA and LSA of the cube whose side

is 

21 cm

View Text Solution

6. Find the TSA and LSA of the cube whose side

is 

View Text Solution

7.5cm

https://dl.doubtnut.com/l/_6pRrHlseOpz5
https://dl.doubtnut.com/l/_9wM8WgEHD4Tq
https://dl.doubtnut.com/l/_hCzXwhAb0C9j


7. If the total surface area of a cube is 

then, find its lateral surface area.

View Text Solution

2400cm
2

8. A cubical container of side 6.5 m is to be

painted on the entire outer surface. Find the

area to be painted and the total cost of

painting it at the rate of ₹24 per 

View Text Solution

m
2.

https://dl.doubtnut.com/l/_IhCv0Gg9DSCd
https://dl.doubtnut.com/l/_j08bYpXl8K4H
https://dl.doubtnut.com/l/_Jv7rDjadtPQR


Exercise 7 3

9. Three identical cubes of side 4 cm are joined

end to end. Find the total surface area and

lateral surface area of the new resulting

cuboid.

View Text Solution

1. Find the volume of a cuboid whose

dimensions are 

length = 12 cm, breadth = 8 cm, height = 6 cm

https://dl.doubtnut.com/l/_Jv7rDjadtPQR
https://dl.doubtnut.com/l/_7sJf0EuiBNNJ


View Text Solution

2. Find the volume of a cuboid whose

dimensions are 

length = 60 m, breadth = 25 m, height = 1.5 m

View Text Solution

3. The dimensions of a match box are 6 cm

 Find the volume of a

packet containing 12 such match boxes.

× 3.5cm × 2.5cm.

https://dl.doubtnut.com/l/_7sJf0EuiBNNJ
https://dl.doubtnut.com/l/_e4yE37rBJobz
https://dl.doubtnut.com/l/_nSgzzDEQPpv8


View Text Solution

4. The length, breadth and height of a

chocolate box are in the ratio 5:4:3. If its

volume is  then find its dimensions.

View Text Solution

7500cm
3,

5. The length, breadth and depth of a pond are

20.5 m, 16 m and 8 m respectively. Find the

capacity of the pond in litres.

View Text Solution

https://dl.doubtnut.com/l/_nSgzzDEQPpv8
https://dl.doubtnut.com/l/_af87kBKouhaa
https://dl.doubtnut.com/l/_Jw5qnSznDVod


6. The dimensions of a brick are

How many such bricks

will be required to build a wall of 20 m length,

48 cm breadth and 6 m height?

View Text Solution

24cm × 12cm × 8cm.

7. Th e volume of a container is  Th e

length and breadth of the container are 15 m

and 8 m respectively. Find its height.

1440m
3.

https://dl.doubtnut.com/l/_Jw5qnSznDVod
https://dl.doubtnut.com/l/_KkIfJRbdpD8R
https://dl.doubtnut.com/l/_PxeAbAyCsiDW


View Text Solution

8. Find the volume of a cube each of whose

side is 

5 cm

View Text Solution

9. Find the volume of a cube each of whose

side is 

3.5 m

https://dl.doubtnut.com/l/_PxeAbAyCsiDW
https://dl.doubtnut.com/l/_pSLfQ8du38Tx
https://dl.doubtnut.com/l/_JB8EguWup2q8


View Text Solution

10. Find the volume of a cube each of whose

side is 

21 cm

View Text Solution

11. A cubical milk tank can hold 125000 litres of

milk. Find the length of its side in metres.

View Text Solution

https://dl.doubtnut.com/l/_JB8EguWup2q8
https://dl.doubtnut.com/l/_mmzZUeFY9D0d
https://dl.doubtnut.com/l/_bftiNdKfIYe9


Exercise 7 4

12. A metallic cube with side 15 cm is melted

and formed into a cuboid. If the length and

height of the cuboid is 25 cm and 9 cm

respectively then find the breadth of the

cuboid.

View Text Solution

https://dl.doubtnut.com/l/_KEQnSnoDNZ34


1. The semi-perimeter of a triangle having

sides 15 cm, 20 cm and 25 cm is

A. 60 cm

B. 45 cm

C. 30 cm

D. 15 cm

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_Rew3TQTksaRZ
https://dl.doubtnut.com/l/_mvMqdd8mse3d


2. If the sides of a triangle are 3 cm, 4 cm and 5

cm, then the area is

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

3cm
2

6cm
2

9cm
2

12cm
2

https://dl.doubtnut.com/l/_mvMqdd8mse3d


3. The perimeter of an equilateral triangle is

30 cm. The area is

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

10√3cm
3

12√3cm
2

15√3cm
2

25√3cm
2

https://dl.doubtnut.com/l/_W0h6kxvF1voc
https://dl.doubtnut.com/l/_HCU1oPSVV43b


4. The lateral surface area of a cube of side 12

cm is

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

144cm
2

196cm
2

576cm
2

664cm
2

https://dl.doubtnut.com/l/_HCU1oPSVV43b


5. If the lateral surface area of a cube is

 then the total surface area is

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

600cm
2,

150cm
2

400cm
2

900cm
2

1350cm
2

https://dl.doubtnut.com/l/_1QiIjrDI0PVY
https://dl.doubtnut.com/l/_QElTMhLTBnEq


6. The total surface area of a cuboid with

dimension  is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

10cm × 6cm × 5cm

280cm
2

300cm
2

360cm
2

600cm
2

https://dl.doubtnut.com/l/_QElTMhLTBnEq


7. If the ratio of the sides of two cubes are 2:3,

then ratio of their surface areas will be

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

4: 6

4: 9

6: 9

16: 36

https://dl.doubtnut.com/l/_UEiBAzleqaSP
https://dl.doubtnut.com/l/_bvwwF1hpimm2


8. The volume of a cuboid is  and the

area of the base is  Its height is

A. 10 cm

B. 12 cm

C. 20 cm

D. 22 cm

Answer: C

View Text Solution

660cm
3

33cm
2.

https://dl.doubtnut.com/l/_bvwwF1hpimm2


9. The capacity of a water tank of dimensions

 is

A. 75 litres

B. 750 litres

C. 7500 litres

D. 75000 litres

Answer: D

View Text Solution

10m × 5m × 1. 5m

https://dl.doubtnut.com/l/_6oXXMeiOO65P
https://dl.doubtnut.com/l/_EgKBZborSWr7


10. The number of bricks each measuring

that will be required

to build a wall whose dimensions are

is

A. 1000

B. 2000

C. 3000

D. 5000

Answer: A

View Text Solution

50cmx × 30cmx × 20cm

5mx × 3m × x2m

https://dl.doubtnut.com/l/_EgKBZborSWr7


https://dl.doubtnut.com/l/_EgKBZborSWr7

